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Intro

Today we will 77va learn X”1 97 of Xpp X232 NooN nu :n w’
NIVWYN NMNO2

Some of the topics we will learn about include.

The question of
WYL MNS2 VAN W2
Does a pit less than ten o'nov kill through impact?

The Mishnah’s Halachah of

pommobe T POMY 7Y YW M
;l:éir;i ;vi(su i 5:1}'?1?2 gilonged to two partners. ]1\”&1“ 1,',}, -I:”
110 K1 I 1n°3 N'?'I

171100

If one owner uncovered the 112 and then went away but 1nD: Nb] ’J\,Jﬁ]

did not cover it, and then the second owner used the M2
but did not cover it, only the second owner is liable, and :”n ’an

the first owner is 109.

And a Machlokes in the Gemara regarding

09D MR PURI

At what point is the first owner no longer responsible for

the 1127
| MR
Th ibl i f
@ | epiionrs 05" NRD

Two people being partners in a 113;

The Machlokes '3 and oon regarding

aYwN M2 30N

TIWYY WOV IR R

If one person dug a pit 9 o’nov deep, and then another
person completed the 12 until it was 10 1oV deep,
regarding nr», if an ox died in the M3, all agree that nl’wn 11: 191nn
20 PINR

Only the last person is 271, while the first person is 7109, nﬂm}’l’ 1D’l’wn1 1nR R:’
Regarding ppr3, if an ox was injured in the *37,7m2 holds
PN omIw

Both are 27r;

While the o'»on hold

20 PINR

Only the last person is 2n while the first person is T109. n.lwl’ 11: 1D1nn

The two contradicting Breisos regarding

1V N2 9N

One person dug a pit of 10 ©'nov, and then a second person
added to the pit, one Braisa rules

kil giabin)

While the other Braisa rules

271 ORI

)
Yecheskel
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. D) DOV I 1 INNY N2
n
If a person dug a pit of eight »nov and there were two

g:g:z (D)g \I;vjater, ifa ox dies he is 271 because n J’Dw .n:
17?1::';03:711 -irnjc?rfe nov of water equals two omov without D’D n’nDU ’Jw ]nD1

water, and the M1 is considered ten onov deep.
b 297

The Halachah regarding
inlsXa=kann]
If a person widened an existing pit

The Machlokes regarding N’D-f nDU l,:

12770 APNIYY N2
A pit whose depth equals its width

1N N2°NN

® PP M2

Dedicated By: DafHachaim.org BavaKama 51-2




NPT
esl;'e‘l
Dedicated By:

N1 7 813p N33

So let's review ...

Zugt Di Mishnah

Pomw 3w Sw M

There was a pit that belonged to two partners;

102 R PRI PHY 72

703 R 10

2°M°10N

If one owner uncovered the 711 and then went away and
did not cover it, and the second owner then used the 12

and did not cover it, only the second owner is liable and
the first owner is M109.

As Rashi explains based on the Gemara later;

T WHNWR WY ORI IV

» Hnwa

The second owner was still using the 112 when the first
owner went away. Therefore, he was not responsible to
coverit.

Otherwise, however, both partners are liable.

DafHachaim.org

'3’)/&/

PR W S M3
Y10 89 PRI 1O N3
10D N W
anm R

If one owner uncovered the 2
and then went away and did not cover it,
and the second owner then used the 2
and did not cover it,
only the second owner is liable

Ay Rashi explaing;

/. ;»643 W31 Gy j!///&/) 1ny26p
The second owner was still wsing the
whew the first owner went away.
We%am, he wass not ra/zowéfa To cover it
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The Gemara discusses the possible scenarios of a
PomW 1w Hw M

According to X2pY *37 who holds

2MIMwI1 M1

The maarnapplies to a pit in private area; this would be
possible

DI HW M OPIW SW T3N3

12 1PON RO MW T ROM

Two people jointly owned a property with a pit therein,
and they declared the area around the pit ownerless, but
the pit still belongs to them.

And even according to the opinion of

NOHIMWVWITI N

The 2 2vn applies only in a public area, in which only the
one who actually dug the pit is considered the owner; a 12
pomw 3w 5w would be possible

nAR N2 RSN 1PV 1IPYY PAD

YL mHwm

If one person dug a pit of 9 @mov and then both people
removed a stone and together completed a pit of 10 o’nov.

However,

WP R WP ORI 7797 )R

If one person dug 5 o'nov and then the second person dug
50'nov, and completed a pit of 10 1oV, it would depend

in the Machlokes *27 and the o'»on in that regarding i,
ifa ox died in the 113, all agree that

20 PINR

Only the last person is considered the 11271 v and liable,

while the first person is 7109, because

AT MW TV RO

He did not dig a 12 with the depth that can kill an ox.

And regarding ppvy, if an ox was injured in the *29,7M12
holds

Pa°n o

Both are 271, and this may possibly be the Mishnah'’s case,
while the o»om hold

21 PR

Only the last person is 271, but the first person is mvo.

The %«Lm‘ person Adid not

DafHachaim.org

The Gemarss discussey dther scenarioy off a

1POMY 7NW Y® M2

/Fccor/dr% to PPy 7P
A 0P P
DN7Y YW M2 DN7NIWY HW N2
1M2 17PN RO - MY 1PPDM
7@/@0&%&/ the area around 7%@/142‘ ownerless,
but the pit still belongs o them

/fccor/m?/ ty the opinion 0%

200 1P WP
On/?/ the one who /a7 the M & considered the owner

NNXR N22 89N 17720 1IPYW NAD
NIVYY INHWM
One /a?/ wpit o% 9 ool - and then both removed a stone

4 ?‘UW/MV coWe/ wpit of 10 prod”

However
NWNN RN NWNN RN NDT N
Zﬁ one /u?/ 5 pnol and thew a second. person /u?/ 5 pnod,
m/w@&z‘e/w/za‘ 0%10 P00
Regarding nnm, Regarding ppm
ifa ox died in the m if an ox was injured in the 12,

PN DI Y] PP
PONRN DMiY PONN
) pann N
o iyl 3y Thiy may OM?/ the last
/wm’él% be the person iy s,
dig a5 with: the depith WMishnah's — but f/w/w
that can bl an o % person iy )
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The Gemara now elaborates on their Machlokes regard-
ing ppyi:

The o'non hold

270 IR

Because the Pasuk states

MWRII D

The word v’x teaches

DIV RS TR

Only one person is liable for a 713, and this refers only to
the last person because the Pasuk states

19 M

10D T2V RPT RN

Only the one who completed a in’» 1w is liable but not
the first one, and as Rashi explains

PRVID oY N

The Pasuk excludes the pwrd even regarding ypii that the
PRI is Mo if there was no 1n°» MY, because the Pasuk
is not needed to exclude the pwra regarding nn'n, because
it's understood X720n since he did not dig a np M w.

While »27 holds

PN o

Because

PRYIMYW 7Y

He dug the depth that can injure an ox, and the word WX is
needed to teach

MW RN MIWVR

The 2 2rn applies only to a pit dug by a person, but not to
a pit dug by an ox.

The Gemara cites two contradicting Breisos, one Braisa
states

WY N2 DN TIR

35 mybwm IR Ry

WS AWM IR X

P PN

If one person dug a pit of ten o115V, another person dug
further until the pit was twenty o'nov deep, and another
person until thirty onov, they are all 2°n.

While a second Braisa states

7IWY N2 I TIR

7731 7701 IR R

27N PINRD

If one person dug a wide pit of ten o'nov, and then another
person smeared tar or painted its walls which made the
narrower and the 5371 increased, only the last person is 27n
but the first person is Mvo.

The Gemara initially assumes

Y1 RA

1IN

The first Braisa is >27 who holds regarding ppi3
72710 0w

While the second Braisa is the ©5n who hold
PR PINN.

DafHachaim.org

PN
27N PONN

i e e
PN £/ & ont

W Y p > ND Thisrefervonly
0%/?/ the one who ™= ty the last
Mwn/

comﬁ[a‘e/ @ N Wyl 713 ’n-,':-‘-,

A Rashi explaing

PRI DLV 9
Because the Pasuk i not needed ty exclude
the 6 r%r/w% W, because ity understood Loy
since he did not /Z?/w W WY,

W

/,37

2D DNMIY

PPTI MW TID
He dug the depth that can injure an ox,
and the word "wN" is needed to teach

72 NW R - M N

The 9> W&@ym@/ t wpit /u?/ éyzwﬁemow,
but nat to wp’f/ayéymm

M2 IDINN TR
Ny
72701 IR R
799
21 PINRD

T2 IDINN TR
NIvY
NV INR RN
DMWY
NYHWN INR RN
DOVHYY
12N 1711

2$1229 RN 2 RN (X
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The Gemara says this is not necessarily so

1.

1327 R RD

Perhaps the first Braisa is also the o»om and

Parm

Because

AN MW ROP TIVT

The first person dug the depth of ten o'nov that can kill an
ox, and he completed the 713, as Rashi explains;

The word X does not exclude the first person from the
arnifhe dug a nn» 1w because the Pasuk 1% > mom
refers also to him.

While in the second Braisa

271 PINR

But not the pwry; even though he did complete ten omov,
however

arnb Y12 i RSw

A5 52n 72 PO IR R

His 12 was too wide, and there is no a7 to kill an ox, and
is not considered a 1’1 M'w; and then the second person
made the M2 narrower and there was then 527 to kill an ox,
in which there was a nn mw.

OR

2.

1R NA

The second Braisa is also *a1and

21 IR

But not the pwxa, because

53712 70 ROV 1D

Pt RO A RS

5312 O IR R

PRMS Panmns pa

His 712 was too wide, and there is no 527 to even injure an
ox. Then the second person made the W2 narrower and
there was enough 527 to kill and injure an ox, and he
completed the ma.

While in the first Braisa

ngailiafnplbl

Because

PRV D MW NP TAYT

DafHachaim.org

72 99NN TNR
NIvY
TM0) INR RN

T2 99NN TR
NvY
NHVWM IR R

T 0MVYH
NNV IR R
VWO YWY
1°2°°N 1910

27N PINRD

@

1229 XM XN
2N PINX 1°2°°N 191D

But not the pwN); even Because

though he did complete NI MW RDP TIT

ten D'NOY, however
The first person

an 12 wa dug the depth of ten pnov

ﬂD’Db that can kill an ox, and he
12 PDIiM INN N2 completed the 3,

nd 5an Ay Rushis expluins;
Hiy o was too wide and the:  The, word o dvess not exclude
second, person came made  the %&m‘ person %mm/ the y»
the > narrower
and there was thew /5>
ty kil an op.

%/b&/afﬁ/ﬂﬂ/\/ yyl
and the Pasuk 1/ > sy
r%em/wéﬂ to himw.

M2 DN THR
DRI NvY
THOIINR R ANV INR RN
T DMWYH
2N NINRD INHVM INR R
DOWO5VH
127N 191

72 I9INN TNXR

29 RN KRN

02" n 0>

Because

270 PANR

But not the pwn», because
520 12 M ROW > NDp T
Ppprab N5 md NS N N

521 12 DN MR R pprN
Pp125 P2 NIDD 2
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. The Gemara continues
RITID 92 SRIDW says

S:’?; MOV W 10 ANDY M1 LW 9 )@ i

If a person dug a pit of eight 0'nov in which there was two O11IYWY 72

onov of water; if an ox dies, he is 271, because

T 150 5 0 DNDL W N

MWD N 271N

The 537 in one nov of water equals two o'nov without

water, and the 712 is considered ten o'nov deep.

If a person dug a pit of eight pnop
in which there was two pnov of water;

The Gemara asks whether if an ox dies, he is 27n, because
nywn M
D TAR OV JI) NDT NODL b>
OR WT NRT MIND
nyaw m ) .
D' DPROL WS ) The 5an in one nov of watere quals two pnov without water
mn and the 2 is considered ten Dnow deep.
Do the different proportions create more or less 5177?
And these questions remain unresolved. ?
_______ Y2V M2 nywn Ma
1N 1
D°NDV NWHOW  TNXR NDYV
. om om

nn
Do the different proportions

create more or less 5>an?

And these questiony remain wwesolved,
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The Gemara proceeds with the question of

nlskaniianhl

What is the Halachah if a person widened an existing pit?
Do we say 7709 because

N2 VY

He reduced the amount of 537;

OR we say 271 because

R 27PN

He increased the possibility of an animal falling in.

"WR 17 says it depends

P RYITINR

If an animal died through %111 he is Mo because
R30I

NN VAN R
But if the animal died through impact he is 2711 because
RPT 2V N

The Gemara offers a second version of "wR 17

503 RO} RN 'R

If the ox fell on the side that he widened he is 2’1 because
RPN 27PN

593 RO JTTRN K]
But if the ox fell in the other side he is Mo because
K527 VY1 N

The Gemara cites a Machlokes regarding

12072 IPPIYY M2

A pit whose depth equals its width; some say
5301w oMb

PP SV I 1207 RPW TY

A pit always contains 537 unless the width exceeds its
depth, and therefore 2.

IR TN

5372 PR oYwS

727 5V I PP RTW TY

A pit does not contain 537, unless the depth exceeds its
depth, and therefore m109.

DafHachaim.org

2

1N N2°NIN

If a person widened an existing pit

Do we say MDD
because

Nban vym NN

Hereduced
the amount of b>an

Orwe say 270
because
NPT 2P 1IN
Heincreased the
possibility of an animal
falling in.

@ @

G 2 G 2
It depends It depends
501 ND2 MDD N PP RHaNI N
Ifthe ox fell on the side that he  If an animal died through
widened he is 27n because 520 he is o because

NN 2P NN NRban vy M
nYD NDINI N

But if the animal
died through impact
he is a»n because

NPT 29PN

593 RD2 TTIND N
But if the ox fell
in the other side
he is o because

Nban vy "N

12N NPNIYY M2
A pit whose depth equals its width

WE 3h
53n n w» phiwd
NPV DY I NIM N T

A pit always contains 5an

unless the width exceeds its depth, and therefore

27N

WE Fh/
5an na pN DOWS
N2NY D Y NPV R TD

A pit does not contain 5an, unless the depth
exceeds its depth, and therefore

MNOD
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‘ The Gemara returns to the Mishnah’s Halachah of
37109 R ORI POY 72
1102 RO W
o 10D N PN YOp Nap
Because when the first owner went away, the second 09 xb'l Ahi/Samt|
owner was still using the 713, therefore he was not Nogm o
responsible to cover it. ey
The Gemara cites a Machlokes regarding <

09D NIRD NWURI
At what point is the first owner no longer responsible for 0D NNRN ]1\”&1
the 27 At what point is the first owner

Some say no longer responsible for the 12?7
WHNW IPIN

If when the first owner left, the second owner was actually

using the pit.

Others say VNRNVN IMNWN  PHITIH MONVWN
5715 Mown . . If when the first owner left, Even if the second owner
Even if the second owner was not actually using the pit, the second owner was no more using the pit

but if the first owner merely handed him the cover before
he left, he’s no longer responsible for the 712

was actually using the pit. but the first owner
merely handed him
the cover before he left.
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